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Equazioni logaritmiche

51. /1+Iogﬁx:3

{x>0 {x>0 X>01 1

ca. = = = X> —=

l+log~x=0 log~x=>-1 X=— [
972 972 >

N

1+Iogﬁx:9 = Iogﬁx:S = x:ﬁs = x=16

52. Iogé Iog} (5x+9)=0

3 3
5x+9>0 9 x>-3
: X ” X=>-—— 5 9 8
1 8 5 5
3 bx+9<1 X< ——
5
Iogl(5x+9)=1:>5x+9:}:>5x:_§:> X:_§
3 3 3 15

53.  (x® —1) 2072 =g, 2**!
2'%9:(¢72) = x — 2 infatti, per la definizione di logaritmo: @8> =¢ < log,c=b
cioe: 292" = x -2 ~ log,(x - 2) = log,(x - 2)
ca:x—-2>0 = x>2:. (X¥*-1)(x-2)=x+1
(Xx-1D(x+1D)(x-2)=x+1 = x*-3x+2=1

31@ : 3+2\/_5
2 - 3_\/_5

2

X2 =3x+1=0 = x,=

non acc.

3+,/5

2

5. In®x+Inx=0
ca:x>0 Pongrt=InXx = t°+t=0 = t(t+1)=0

t=0 = Inx=0 = x=1

t=-1 = Inx=-1 = x:}
€
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55.

56.

57.

58.

INPx+2In?x-3Inx=0

ca:x>0 Pogort=InXx = t*+2t°-3t=0 = t(t°+2t-3)=0

-1+ J1+3 /1
R R

t=0 = Inx=0 = x=1

t=1 = Inx=1 = x=e¢€

|2Inx+1| =4

ca:x>0: 2lnx+1=+4
3 3
2Inx=3 = Inx:E = x=e? = x=eje

_ 5 2 1
2Inx=-5 = Inx=—-— = x=e? = x= 5
2 e,e

Inx =logx

ca.. x>0 Applicolaregola del cambiamento di base:

Inx:In—X = (InN10-1)Inx=0 = Inx=0 = x=1
In10
2 _
InX =1n2
X
x? -1 N>0:x<-1 0 x>1
ca.: >0 = = -1<x<00x>1
X D>0; x>0
2 _ 2 _ _
-1l o, 0 X 2172X_ | e _2x-120 =
X X
1+ /1+1 /1+2
Xo=—"——
i 1 1-2
x:1+ﬁ; le—ﬁ
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59.

60.

61.

In(e*+e)=2
ca:ef+e>0 = OxOR

e+e=¢e" => e€=e-e = x=Ine(e-1) = x=1+In(e-1)

In>x+ 2|Inx|-15=0

-1+ ,/1+15
ca:x>0 Pongo:t=|Inx| = t?+2t-15=0 = tl,zzf
t=3 = |Inx|=3 = Inx=%#3 = x=¢"° = x:e3;x:i3

€

t=-5 = |Inx|=-5 = imp.

Inx =1-1Inx
x>0 x>0
ca.:<Ilnx=0 = <X=21 = 1<x<e
1-Inx=0 XxX<e
pongo: INX =t

Jt=1-t = t=1-2t+t> = t*-3t+1=0

3+45 +2\/_5 = Inx S3*43 +2\/_5

—3_2\/_5 = Inx:—3_2\/g =

non acc.




